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Abstract 
 

Discrete barrier options can be valued by quadrature, on a lattice or by Monte Carlo 
integration. Prices found by an ordinary lattice method will have a large discretisation 
bias. A good Monte Carlo method will have less bias, but will face difficulties in pricing 
American style discrete barrier options. Quadrature methods are relatively slow for 
American barrier options. 
 
We provide a rigorous mathematical framework for valuing discrete barrier options. We 
show how the Dirichlet lattice of Kuan and Webber can be extended to remove 
discretisation bias in the lattice valuation of discrete barrier options. Unlike a plain lattice 
method, the lattice can value American barrier options by backwards or forwards 
induction and can price a wide range of complex barrier options, including those with 
multiple and non-constant barrier levels. 
 
Numerical results are given. We conclude the lattice is a relatively simple method of 
obtaining accurate option values for a wide range of complex European and American 
discrete barrier options. 
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��	
��
� 3������ ��
���	 
�� 3� ������ 3� <�����
��� �� � ��

�
� ��
3� =��
� ����� ��
����
���. $��
�	 ����� 3� �� �������� ��

�
� ��
���
>��� ���� � ����� ��	
��
�	�
��� 3��	. 9 ���� =��
� ����� ��
��� >���
���� ��		 3��	 3�
 >��� ��
� ��?
��
��	 �� ���
��� 9����
�� 	
��� ��	
��
�
3������ ��
���	. @�����
��� ��
���	 ��� ����
����� 	��> ��� 9����
��
3������ ��
���	.

2� ������� � �������	 ��
����
�
�� �����>��0 ��� ������� ��	
��
�
3������ ��
���	. 2� 	��> ��> 
�� ����
���
 ��

�
� �� ���� ��� 2�33��

�� 3� ��
����� 
� ������ ��	
��
�	�
��� 3��	 �� 
�� ��

�
� �����
��� ��
��	
��
� 3������ ��
���	. ����0� � ����� ��

�
� ��
��� 
�� ��

�
� 
��
����� 9����
�� 3������ ��
���	 3� 3�
0>���	 �� ���>���	 ����

��� ���

�� ���
� � >��� ����� �� 
������ 3������ ��
���	 ��
������ 
��	� >�
�
���
���� ��� ���A
��	
��
 3������ �����	.

1�����
�� ��	��
	 ��� �����. 2� 
��
���� 
�� ��

�
� �	 � ����
�����
	����� ��
��� �� �3
������ �

���
� ��
��� �����	 ��� � >��� ����� ��

������ �������� ��� 9����
�� ��	
��
� 3������ ��
���	.
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�
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���	 ��� ������3�� ��� 
���� 
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�����	�� ��	�
 
���
�����
	 B!�����
��� !�3��	
��� B(**(CD ��� ���3�� 3������ ��
���	 ����
��� ��� E0��� B(**+C
���� �� �����
�
�� ������� �����		�� �	 
�� 	�� �� ��F��
� 	����	.C 3�
 ��� ��	A

��
��� ��	�
 ��
���	 �����
�
�� 	���
���	 ��� ������ ������3��.4

������	 	���
��� ��
���	 ���� 3��� �	�� ��� ��	
��
� 3������ ��
���	. %��	�
��
���� ��

�
� ��
���	 F��
� ��G����
� ��
���	 =��
� ����� ��
���	 
��A
��

��� ��
���	 ��� <�����
��� ��
���	. %�� ����� �	� �� 
��	� ������
��
��
���	 
�� ���� 
� ����� ���
��� �����	 ��� 	��> 
��������
�.

��

�
� ��
���	 ��� 	��	�
��� 
� 
�� ��	�
������ �� 3������ �����	 ��� ����
���A������� 
��������
�. %� �3
��� ��	
�� 
��������
� 
�� ��	�
��� �� ����	
�� � ��

�
� ����
��� 
� 
�� 3������ 
�� 3� ��H�	
�� B!�

�0�� B(**8C ����0 ���
���	
 B(**,C 6����� ��� ��
 B(**7C %��� B(***CC 3�
 
��������
� 
�� 	
��� 3�
	��> ��� ���
�	 ��� 	
��� ����3�
 
��	�����3�� 3��	. :����>	0� ��� ��� B(***C
��� 9�� :����>	0� ��� ��� B(***C �	� ��F��� 3���
���� ���� 
� 
�� 3������.
%���� ��
��� �	 �3�� 
� ���
� 	����F
��
�� ���� �

���
��� 
��� 	
������ ��

�
�	
���� >��� 3������	 ��� 
��	� 
� 
�� 	��
 ���
� 3�
 ��� 3� �>0>��� 
� ��������

��� 
������ 3������ ��
���	.

:���
� ��G����
� ��
���	 ���� 3��� �	�� 3� ����� ��� %��� B(**5C ���
I��� �� ��� B+---C. %��	� ��
���	 
�� 3� 
��	������ �	 � ���� �� <�����
���
��
��� 3�
 	��
� 
��� ��� ���
�	� ���� �� 
�� 
��
�����	 
��� ����
 
��� ���
������
�� 3� <�����
��� ��
���	 >��� 
�� 
���	�
��� ���	�
� ���

��� �� 
��
���������� 	
�
� �����3�� �	 0��>� �� 
�� 3� ���<��
��� ���������
��.

=��
� ����� ��
���	 ��� 
��	������ 3� ��� ��	
��
� 9����	�� ��� ���
���
��A
!�

��G� B(**,C ���������� �� ��� B(**7C ��� ����� �� ��� B(***C. ���� ����	

� 3� 
�0�� �� 
��	� 
�	�	 
� 
����

 ��� 	�����
��� 3��	. ���� 	� =��
� �����
��
���	 
�� 3� 	��> 	��
� 	�A
����� J����A	
��K ��
���	 A �������� 
� 
�� F���

��� �� � 	����� 
��� 	
�� A 
����
 3� �	��.

@�����
��� ��
���	 	�
� �	 
��	� �� 9�
A������� ��� ��� B(**7C B(**5C 
�������� B+---C 9����
������	 �� ��� B+--)C ��� :�	�� ��� !�

����� B+--)C 
	���� ��� ��
��� ���
�	 3� ��������� ��
 
�� ��
��� ����� �	 � 	����	 �� ��	
��
��
�����	. ��
� ��
����� �	 
��� 
����
�� 3� ������
�� ��
����
���. 9�
�����
���	���3�� �G�

��� ��� �������� 	
��� ��
���	 <�����
��� ��
���	 ��� 	��>
>��� �	�� >�
� 9����
�� 	
��� ��
���	.

%�� �����
�
�� 
����
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��� �� ������� �� ��� B(**7C B(***C ���3���
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3� ��� B+--(C ��� 6L����
 B+--)C ����
�	 
�� �����	 �� ��	
��
� 3������ ��
���
�����	 
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�� �����	 �� 
�� 
����	������� 
��
�����	�� ��	�
 3������ ��
���. 9�
��
����
��� ��
��� �	 ��� 
� 2�� B(**5C. ������� �� ��� B(***C ��	
��3� � 
����A
���� ��

�
� ��� ��	
��
� 3������ ��
���	 �	��� 
�� 
����

��� ��� � 	���
 �� ����	.
%�� ���������
� �� 
��	� ��
���	 �����	 ��������� ���� 
�� ��	�
��� �� 
��
3������ ��� 
�� ���<���
� �� ��	�
	.
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��� ��
���	 ��
���� 
�� =��0�� ����� ��
��� �� ���� �� ��� B+--)C.
%��	 
��3���	 ���
���	 �� � =��
� ����� ��
��� � <�����
��� ��
��� ��� �
��

�
� ��
���.

E� 
��	 ����� >� ����� 
�� ����
���
 ��

�
� �� ���� ��� 2�33�� B+--)C 
�
����� ��	
��
��� ��	�
 3������ ��
���	. ���� ��� 2�33�� ��	
��3� 
�� �	� ��

�� ����
���
 ��

�
� 
� ����� 
��
�����	 3������ ��
���	. %�� ����
���
 ��

�
�
���������
�	 �� ���������� 
��
�����	 
��� ���
�		 3� ��� 
�0��� ��	
��
� ���A
��	 �
 � ��	
��
� 	�
 �� 
���	. 9
 ��
�������
� 
���	 
�� ��

�
� �����3�� ��	 �
��	
��3�
��� ����� 3� � 3����� ��	
��3�
���.

%�� �����
��� �� 
�� ����
���
 ��

�
� �	 �
	 	�����
�
� �
	 ����
��� ��
0 ��
3��	 ��� �
	 �3���
� 
� ���
� � ���� >��� ����� �� ��������	�� 3������ ��
���	. E

�	 ��	
�� 
��� =��
� ����� ��� ��		 
������ 
��� F��
� ��G����
� �� <�����
���
��
���	. E
 ���	 ��
 ��<���� 	��
��� ��	�
������ �� ����	 ��� �
 
�� �����
9����
�� 3������ ��
���	 �	 ��	��� �	 �������� ��
���	.
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���
 ��

�
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�� 3� �	�� 
� ����� 	����� ���3�� ��� ����

������ ��	
��
� 3������ ��
���	 >�
� 
��	�����3�� ����
�� ��	
��
�M�
��� 3��	.
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��� 
���� ���	��
	 ������
�� ��	��
	. 2� ����� ��	
��
� 0��
0A�� ��� 0��
0A
��
 3������ ��
���	 �	��� 3�
� ���>��� ��� 3�
0>���	 ����

���. %�� ��
���
3��
����0	 �

���
��� 
� �����	 ����� 3� �������	 ��
���	 �� ���
�
���� 
�
������� �� ��� B(***C ��� 
� :�	�� ��� !�

����� B+--)C. 2� 
��� ����� 
��
��

�
� 
� ����� �������� ��� �
��� 
������ 3������ ��
���	. 2� F�� 
��
 
��
��	
��
� ��

�
� �
�����	 ����
 �

���
� >�
� � ���� 	���� ���3�� �� 
��� 	
��	.
��

��� ���� 
��
����	.

� �������� ������� �����
� �
� ��� ��������� ����
����

2� �		��� 
���� �	 � 	����� 	
�
� �����3�� � � ��w�w�3 �����	��
��� �� �		�

�����. 2� 	����	� ��
���	
 ��
�	 ��� 
��	
��
 ����� � ��� 
��
 � �����>	 �
�����
��
 ���>���� ��
��� ��w � ��w�� � ��w��w ��� � 	
������ ���>����
��
��� � � ��w�w�3 ����� 
�� ���
������ ���	��� �		�
��
�� >�
� 
�� �

���A
��
�� �

���
 ���������. %�� 	
�
� 	��
� � �	 �<������ >�
� 
�� 
�����
��

�����
�� F�
��
��� � � ��w� ����
�� �. 2� >��� ����
��� � � � >�
� ��
�	 ��
�.

��
 � � �3 � �4 � 	 	 	 � �T � � 3� � 	�
 �� ��	�
 ��
�	 ��� ��
 
3 3� 
�� �����
�
 
��� �3 �� � ��	
��
� 3������ ��
��� >�
� F��� ��
���
� ��
� � . 9
 ��
� 
���
�t � � �� 	 	 	 � 
 � 3������ 
����
��� �	 
��
0��. 9 ����G � �
 
��� � ������	
���� � 	�
 �� 3������ 
����
��� 3���� 	�
�	F��. 2�
���
 ��		 �� ��������
� >�

�� �		��� 
��
 �T � � 	��
� �� �T � � 
�� 3������ 
����
��� 
�� 	�3	����
��
� 
�� ����G ���

��� �.

��
 � �
�
�o
t

�
t@4>===>T>o@3>===>Ot

3� � 	�
 �� 3������ �����	 >���� ��� ��� � >�

�������� 	�
 �3
t � � �Ot

t � � ��� >� ��<���� �o4
t � �

o5
t ��� �4 � �5. :�� � F���

� 
�
�o
t

�
o@4>===>Ot�4

��� 3������ �����	 �

��� �
 
��� �t B�3
t ����Ot

t ��� ��F��� ���

)




��������
�C. :�� � � � � 
 ��F�� 	S � ���4� 	 	 	 � �S � � �t � ��� 	 	 	 � �t� � � � �� 	 	 	 � �� 
��� 	�
 	3 
� 
��
��� H�	
 
�� ���
� 	�
. 9 ��

�� �� � 	S >��� �����	��
 � 	�

�� ��������	�� 3������ 
����
���	 
��
 ���� 3��� ��
 3� 
��� �S .

2� ��F�� � ��� � � ��4� 	 	 	 � �T� 
 � 	 	T. :�� � � � � 
 	�
 �t ��� � � ��
�o�4
t � �Wt ��� � �o

t. 1�
� 
��
 ���� >� ���� 
��	�� 
� ��H��� �o
t 
� 
�� ����

��
�����
�
�o�4
t � �o

t

�
. E� ������� >� ����> ���	����	 
�� ������� 
� ��H��� �o

t 
�

�� ��
�����

�
�o
t� �

o.4
t

�
��	
���. E� 
�� ������ 
�	� >� 	�� �o

t �	 ��H����� ��>�
��� �� 
�� ��

�� �
 �	 ��H����� ��.5

� ��
���	 �������
��� �� >��
 3������	 ���� 3��� ��
 ����� 
�� ��
� �.
2� 	����	� 
��
 
�� ����G � ��� �W � �
 
��� � 
� � ��������	�� 3������ ��
���
������	 ���� � ��� �� �W � 	� 
��
 
3 � ��uW�3 �� ��� �W �
 ����� 
�� 	��

���	���. � ��� �W � 
�0�	 
�� ����

� ��� �W � �
�

e�5�T

�
e� ��W � ���@e�� B(C

>���� �e� ��W � ������	 ���� �� �W ��� �ij �	 
�� ����
�
�� ���

���. %���� ���
��
��
�����

�
t@4>===>T�t ��G����
 ����G ���

���	 ��������� �� >��
� ������

�o�4
t � �o

t

�

�� �		�
 ����� �Wt ���	 �� �
 ��
� 
��� �t.

:�� � ��>� ��� �� 
��� ��
��� �t � � ��� ��� � ���

�
e� ��W � �

	
�� ��t � � ��� ��� � 
��W 
��. � �
���>�	� 

B+C

��� ��� �� �� ��� ��
 ��
 �t � � ��� ��� � ���

�
e� ��W � �

	
�� 
 �W �. � ��t � � ��� ��� � 
�� �
���>�	� 

B)C

>���� �� 
��	 
�	� >� ��H��� �o
t 
� 
�� ��
�����

�
�o
t� �

o.4
t

�
��� ��� � 	� 
��


�t ��� � � �� �o�4
t � �Wt ��� � �o

t.
:�� � ���3�� 0��
0 ��
 ��
 �t � � ��� ��� � ���

�
e� ��W � �

	
�� 
 �W �. � ��t � � ��� ��� � 
�� �
���>�	� 

B#C

>���� �4
t �	 ��H����� ��>� ��� �5

t �	 ��H����� ��.

��� ��� ��������� �������

��	
��
�	� 
��� �	 � � �3 � 	 	 	 � �Q � � >���� ��� 
�� �����
 >� �		���

�� 
��� 	
�� 	� � �m.4 
 �m � � �� 	 	 	 � � 
 � �	 � 
��	
��
. ��3�� ����	 ��

�� ��

�
� �
 
��� �m 3� 
�� ���� ��� �� � � 
�m � 	 	 	 � �m >���� �m � �� ��� �

5 Lq idfw lq rxu frqwh{w
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�
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� ��

�
� ���
�		�� 
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� ��>� ��� ��
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�	� 
���
�
�� �
 � 	
������ �����
���	 ��
���
	��� �� 
�� ����

�� F��� ����� �� 
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� 
� ��
���� �

���
� ��

�� 
����
�� ��
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� � � �. ���
� 
��
����� ��

�
� ��
��� 
����
 3� �	�� 
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